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If .D = 3(1 galîs.
: =380 "

o of 380 = 95 " pass through A in 1 min.
4 /95= 427. " " " A " 4 " Ans.
(f 380= 76 " " " B "1
2AX76= 190 " " " B " 2ý "

20. 'Ih population of a city iicreases I each year ; its present
population is 34,560. Find tic difference between what its popi-
lation wns two yearb.ago, nuid what it rill bu a year henco.

Solution. 48XR X34560=30375 population P yeamrs ago.
1gX34560=308;4 ' 1 year hence.

36804-30735=0489 Ans.
21. Boughît 4 ldds. of sugar, each containing 1825 Ilbs, at Gle

per lb., and paid R31.975 for freiglt, storage and eartage. Allow-
ing ,}5 for leakage nid waste, for how munch pur lb. nust I sell the
renainder to gain 1 of outlay ?

Solution. 1825x x6.1=456.25 cost price.
(450.25+ 31.75)=610.28½ selling price.

Ui of 7300=0935 lbs. to sell.
$6t0.28½÷6935=8 QM or 8§ nerly. Ans.

22. A room 20 feet long can be carpetedlfor $48, wiit carpot worth
a certain price per square yard ; or for $72, with carpet « of a yard
wide, worth 30 cents per yard more. Find the widthof the room.
18 feet. Ans.

Solution. y of S72=S60 cost, if second carpet were one yard
wide.

860-848=$12 differenco in cost.
$12-+-30 =40 squaro yards in room.

40 sq. yds. ÷20 feet=18 feet. Ans.
23. Six mcn can do a piece of work in 71' days. How soon after

beginning Iust theo be joinued by 2 mon more, su as to coimpleto it
in 53 days Ans. 2 days.

Solution. If 6 men wouild require ; days.
: 1 man "4 46
8 men " 5.
5~ 188

part donc by the 8 mien.5g207
- ='4 " 6 " beforothoe2mniuu

came.
Again if 6 men would do the whole work in 2!1 days.

6 " " of " . Ans.
24. By selling a lot of land for 8600 gaining } of cost ; a second

for Q600, losing 1 of cost ; and a third at a gain of - of cost, I
find I have made $75 on tho whole trmisactioni. Find cost of each
lot.

Sohdtion. rý of $600=$500 cost of first.
i of 8600=8750 " second.

1250- 1200=. $50 lors.
By problem-S75 total gain.. 75 x 50=8125 to gain.

If 81 =gain oi $5.
8125= " $625 cost of third.

25. Seven men engaged to do a picco of work in a given time,
but 3 of themu failing to couie, the work was prolonged 7ý days.
In what time vould the 7 men havo donc it? 10 days. Ans.

Solution. By problem-
y of work is doue by 4 men in 7ý days.
:.- " " 1 mai .
: " 7 men " j=10 das. Ans.

26. A garden is 10. rods long and 8' rods wide, and surrounded
by a fonce 72 feet high ; a walk is laid out arounid it within the
fonce 7A feet vido at the sides, and 5fl feet wide at the ends. Row
umuch remains for cultivation ?. 21,296 sq. ft. Ans.

Solution. -?X -X=U. length in feet.
"ý '×'.?X = 143 breadlth.

SAU <1P=25.3641 area in sq. ft.
9 x 1&X«=2660' " " " of twv,î sides.

(148-15)×x 1×¾ =1408 "~ " " enxds.
25364a (0660â+1408)=21290 sq. ft. Ans.

27. A grocer mixes 17 lbs of tua with 13 lbs. of superiorquality,
and gains ý of cost by selling at 651 cents per lb. If one kind coust
10 cents per lb. more than thaothl, tind thme price oIf eci per lb.

Ans, â0 and 60 cents.
Solution. By problen 'l of price=65¼ cents pur ILb.

• , " " =54. ".

and 17 "d. x10 = 1.70.

And 1.30+1.70=18.00÷30=rp0c. price of butter tea.
And 60 - 10=50c. " cheaper "

28. A certain principal, at simple interest amounts to $1033.20
in 4j years ; and te $1041.40 iii 4À years. Fiînd the principal and
rate per cent. Ais. Q820 and 6. -

Solution. 4.-41=à year, and 1041.40-1033.20=8.20 int.
for i year.
If int. for year=$. 8.20

40.20.
• " " "= 213.20.

1033.20-21320 =8820 principal Ahs.
If int. on $820 for ene year = $49.20.
" " " $100 " " " = 80.00. Ans.

29. A speculatorgained ;t on 9 of his investnient and lost la on
the remmamder, and his not profits wure 8720.00. Wiat wYould
have been his profits had le gained ·? on , and lost d- on lie ru-
mnainder ? 8405 Ans.

Solution. -x
' =-and iß.'j=g

Again if $8.00 are gaimed on $50
1.00is " 
8720.00 are gained oi $400 amount invested.

Z(4500) x ¶=82340
'(4500 )×. =2505
2340+2565-4500=8405 Ans.

30. A farmer lis a bi of wheat 16 feet long 7 fect 6 inches wido
and 4 feet 4 incies deup, for which lie is (ffered 85 cents pur
bushel by ieasure, or 84 cents per butsliel by weight. If every
bushel by ncasure weighs 62 lbs.; and a gallons contains 277j' cub.
inches, find which is the botter offer, and tlie gain by accepting it.

Solution. 16X>. 1X >J=520 cub. ft. lit bini=898563 cub. in.
277 X8=2218ý cub. in a bushel,

If A . culb. in. =1 bush.

898560' " =405
405 x 85=$344.25 first offer.

Again if 1 bush. weiglhs 62 lhs.
405 bush. weigli 25110 lbs.

If 60 Ilbs are worth 84 cents.
25110 lbs. are ivorth $351.54 second offer,
351.64-344.25 =$7.2) gain by latter offer.

31. If a gallon of vater weighîs 14à.83 oz., Troy, and 1 pint ofwater contaimîs 34 56 cub. inches, find the weight of cub. foot of
witer in .ez. avoir.

Solution. If 34.56 cub. in.=1 pint,
.. 1728 " " =50 "

A gain if 1 gallon of water weighs 145.83 oz. Troy,
50 pts. o " " 9111 ".

Again 1 oz. Troy=480 gra.
9114¾ " " =4 3 75 00grs.

If °{Rà grs. =1 oz. avoir.
. 437500 grs. = 1000 oza. avoir. Ans.

32. The interval between the firing of two guns on a wharf is 10minutes, and a passenger on board on approaching steam-boat hearsthe second report 9 minutes and 45 seconde after the first, the boat
mîovi.g at a unifori rate, and sound travelling 1125 feet per sec.If the stcaner's wliistle in heard at the wharf, whien sic is 5 miles
off, how soon after that will sic arrives there i

Solution. 10 min.-. min. 45 sec. =15 sec.
If in 1 sec..sounds travels 1125 ft.
:. " 15 " • " 10875 ft.

Again by problein steamer travels 16875 It. in 9 min. 45 sec.
: " " 5 miles in 15 min. 151 sec. Ais.

CEISDAN.

IOlihail iabing

-AN HISTORICAL LIBEL SUIT.

On the twulfth of May, Earl Grey mentioned in the House of
Lords that a Mr. Bone was proceeded against for publishing some
blasplieîmous parody ; but lie had read one of the canie nature,
writtun, printed, and published sone years ago by other people,
without any notice having beon taken officially of it. The parody
to which Earl Grey alluded, and a portion of which he recited vas


